PIRANHA OFFROAD PRODUCTS

‘Piranha Off Road products are not associated in any way with Toyota Australia or any of its related companies’

PARTS INCLUDED WITH TRAYI

1 X Tray

2 X M8 Long

3 X M8 Short

2 X M8 Nut

11 X M6 Hex

1 X M6 Countersunk
1 X M6 Weld Bolt

5 X M6 Nut

1 X Special Top Mount
1 X Small M6 Washer
4 X Special Brackets
2 X Long J Bolt

P/N BT200V8D

To Suit LANDCRUISER 200 SERIES
47LV8TD

sg NOT SUITABLE
N FORSELFFT

FITTING INSTRUCTIONS

This cradle fit passenger side rear.

Remove fuel cannister & mount, terminal box & computers.
Longest leg on terminal box has to be cut off.

Back corner of computer mount needs to be trimmed to fit around
A/C pipe.

Remove relay from inner guard.

Place Conduit over fuel line from cannister.

Bolt the computer mounts onto the inner guard, then bolt computer to mounts,
then move into position & tighten all bolts.

Bolt lower bracket on terminal box & bolt into position.

Modify relay mounts & bolt into inner guard with terminal mount.
Bolt terminal box to mount.

Place tray into position & bolt base mounts with 4 x M6 Hex.

Bolt mounts to inner guard using 3 x M8 short.

Bolt cannister to mounts on tray using 2 x M8 long bolts & nuts
Lengthen wiring to fuel cannister (2x Plugs)

Once the battery is in place secure top mount using J Bolts & brace

RECOMMENDED ISOLATOﬂ using M6 bolt, nut & washer
DBE140SF
or Ensure, before closing the bonnet that all items fitted have
DBE180-SX adequate clearance ST
FITTING INSTRUCTIONS © Automotive Ignition Systems Pty Ltd 2017 BT200V8D



